oS 2ol A M2 AB 9] TR, A N2 MB Y o,
ohe [l ggre 45 Molat

Il
I

TJe

N

=Ze

A

AB = oMN

D L
=%



@ 3cm

EEEEY
___—24cm——-\\
A N M B
@ 4cm ® 6cm @ 8cm

® 12cm



3. t& I1®”elA LAOB 9] A7)0 B

O 116° @ 118° @ 121°
42-107—A 2+20°

@ 124° ® 126° * 0 &



4. o OgofA x°:y° 22 =3:2:5 L o, z 9] G227

D 70 @ 80 ® 85 @ 90 ® 100



5.

oh2 23 9] misFolo tehd A, B, C, D, E FollA A4 [ 719
A7 7H8 7he A, 7P A S AR = A=




oln

@ tLe & tk

)
0

N

A

@ Acg}zg

® 1g ¢} ze = AZo|tt.



O— T
ma _ma =z
N
< O T X =
= =
ok
ol i
g
O.Nlu_ﬂ m

m
=2 e
H
= X
o

= ) —
WM% S Y
Ewl o ©
wmga
KO oy 0|
OTE_EN,W
au‘ﬂ%llﬂ
TmE R
op o F
TRr O @

7.



St W Qo] Q= A2 tr2 Al A [ m, n o S [im, [in
o, m 2 n O] Y2 WA E=?

@ BAsH,
5 ol A g,

@
®

e
DI
o
)

©
2
>
29
)

o]
=



Ao d HA,B,C,D7Aet T2 5

O

gas

ey
o) 0 o)
a HD A
. m 1O Im
T off o o
gl ) 1y
ol o~ o ok

o
m Im



10. o T4 LAOC = /BOD = 90°, ZAOB + £COD = 50° & uf,
Lx 9] 27| F-atolet.

A B
Mj
0) D



11. g 278 REole 19 375 Foto] D
af, c

>

(7}) /DOE = 90°
(4}) /DOE : /BOE =9 : 4
(th 4.COD = /COA




12, o= "N 2x & 27

@® 10° @ 20° ® 30° @ 40° ® 50°



Zol AR oHE 5 o] A4l
Ao

gol 714 F-stod=t,

13. o 2"
e ne 2

D 15% @ 16 % ® 174 @ 18 % ® 20%

<
fa)
2
o)
d
,
e
jul
1=}
&
R



14. ©h& 2-oIH 1/ /m D W, -2y 9 2712 Yoo
Tfofet. N

l

25°

Y

Yo



15.

o

i ol A2 T2 Al 24 [ m, n o] et 2ot 4] g2
?

e
rlo

@ 13 m o] FHSL 1 T} n o] BHSE m 7} n o] BHSITE,
@ 13} m o] YL [ T} 0] Z O] m I} n o] =7 o]},
® 1T} m o] Z=Zo|1 | 3}y o] £ oWy T, o] B},
@ 13} m o] 2ol 1 3} p o] HHSIA m 7} n o] B},

® 17 m o] B | T p o] G HeA WL T & T
Aol ahde,



16. o 233 Zol
o, 271 &

i®)

O PLQ

@ A0LCO
® BDLAO @ /0AB = /OBA
® BO =CO



17.

© 17 @ 2 A ® 374




18. o= I tiet A § &2 A7

O tb=1ysgolHI1/)/m aXb
@ 1//molH ta+ Le =180° e\
® azholB 1) m X/

@ Lg+1b=180°©°|H I//m

® 1//molH zd+ th #180°



19. o= J™-AA 1/ /m 2 W, 2x 0] 271E F5Fot
l




20. o= I 1T m o] BAL o, x ©f 2

71 Fstofzt.




21.

o 2NN AH 1 3 m o] BHFT o,
La+ Lb— lc— ¢d ©) S F5tolzt.




mAel el A 47101,

ikt

I

® ™ BFHD ¢t



23. a2 A2 oE ¥ 79

214-E JojA BHE 4 Qe 1d o]
ioltt, 28 ok 24 10 7HE o835t THE 4 = wH o o
M= 2 A7

ZIMO| A 1 2 3 4 10
j_EI 9
Zcf wH™e| 7| 0 1 3 6 ?
@® 40 7 @ 45 7\ ® 50 7H

@ 5570 ® 60



24. o3 I ALY 2 FolhE AB//DC 7} HEE 2 Ao
tt. /ADJ =60° ¥ o, /AGH & st}




25.

ohe I Zol A A, B, Ci= Y P $le] 913, A D, B W
Q 91l Ik P 912] Al A A, B, C= % A4 910 9L, 1 o] 2o
AHEL 3 AA o] A gheka Gk o ), Al oz AT 4
ol A2 the Bee] A5E Tatelet

A A

De

v




